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6x 1072 =
208.4+ 10° =
100D =

5x 107 =
364.2 x 100V =
544.8 + 107 =
258.6 x 100Y =
6x 100" =
1003 =

9x 100 =

=N e

—3x 10* =
1004 =

411.6 107 =
2752 x 107 =
563 x 107 =
329 x 107V =
100D =
357.1+ 107" =
6x 100 =

2% 10% =

www.snowmath.com



https://www.snowmath.com

.J?
TEL
o ] -

102 29| X|==

0| =.

.

6x 1072 =0.06

208.4 + 10> = 2.084
1077 = 0.1

5% 107% = 0.0005
364.2 x 1070 = 36.42
544.8 + 1077 = 544800
258.6 x 10°% = 0.02586
6x 107" =0.6

107 = 0.001

9 x 10 = 0.0009

R}
—3 x 10* = =300

107 = 0.0001

411.6 + 107 = 411600
2752 x 107 = 0.2752
563 x 107 = 0.563
329 x 107 =329
1077 = 0.1

357.1 + 100" = 3571

6 x 107% = 0.0006

2 x 107 =200
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